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Total Marks Sections B and C: 43

COMPUTER SCIENCE SSC-I

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q2

‘Note:

Q.3

SECTION — B (Marks 27)

Attempt any NINE parts, All parts carry equal marks. (9x3=27)

(i

(xii).

(xiii)

Attempt any TWO quéstions. Ali questions carry equél marks.

Differentiate between RAM and ROM.

What is meant by managing data and why is it important?

Why is operating system an important software for a computer? Give any three reasons.
What is dial up modem and why it is used?

Differentiate between ‘page break’ and ‘section break’ in MS Word (Word processor).
What is meant by:

a. Port b. Expahsion card C. Expansion slot

Enlist any three uses of computer in media.

Write any three limitations of ring topology.

Enlist any three actions performéd by spyware,

State the difference.between ‘authentication’ and ‘authorization’ with examples.

Mention any three problems which may occur if peer-to-peer network is used for a large number of users
in an organization.

Compare ‘DSL’ and ‘Dial up line’ in terms of:

a. Transferrate  b. Cost per month C. Disadvantage

What happens if storage devices are removed from compute‘rs.ystem?

SECTION - C (Marks 16)

(2 x 8 = 16)

Describe the following guided media on basis of structure, purpose, speed and cost.

a.

Twisted Pair Cable

.Fiber Optic Cable

Describe any four uses of networks.
Compare LAN and WAN.

Explain basic operations of a computer.

Describe following components.of communication system.
Sender Receiver Message Protocol
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